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Question #290 
Answer: C 
 

2 2 3
67 2 67140 0.95(135) (0.95) (130) 314.09NPV v p v p v     at a 10% discount rate. 

 
 
 
Question #291 
Answer: B 
 
Solution 

1/12Pr (6,000 700 10)(1.06) 0.002(200,000) 0.0015(50,000 15,000)

0.9965(6,200) 46.7.

     
 

 

 

 

Question #292 
Answer: C 
 
245 = 2p40 270 and 300 = 3p40 395 
 
Present value of premium: 

21000[1 (245 / 274)(1/1.12) (300 / 395)(1/1.12 )] 2403.821.    
 
Present value of profit: 

2 3400 150 /1.12 245 /1.12 300 /1.12 142.775.      
 
PV Profit / PV premium = 5.94% 
 

 

Question #293 
Answer: B 
 

[1 0.97(0.98624) 0.92(0.98624)(0.98499)]

100,000[0.97(0.01376) 0.92(0.98264)(0.01501) 0.87(0.98264)(0.98499)(0.01638)]

1431.74.
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